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1 #1 6 " . G
2 s $ 1 11 /1
73 & $ FlasvEE ." -1 / ).19
- &  FlasVEE - / Y191
1 $"1% C S om ookl ( 0
C 1 $"18% - & 1 -
Y &
/ .19
1
0x00 - LSB*
0x01 .
0X02 b & & 1 7-3-1
0x03
0x04 ] 1 /- 1 1
0x05 ; 1 /" 1 732
0X06 ; # $ 1 733
0x09 ] s4 1 " 1%
0xOC ; 34 1 734
0xOD ] 0
OXOE - LSB 7.35
1
0x10-LSB | . $ $°1
Ox11 ; "$ 0 7.3.6
0x12 ; + $ 3 737
bl |
Ox14 ; # AL &3 738
OxF8-LSB
OxF9
OVEA , 0 0 7.3.9
OxFB
OXFC - LSB
OXFD 1 a“/ =g "
OXEE ) 0 ; ) 7.3.10
OXFF
LB 1: & (& &
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7.3.1 & & 1 " "3 $$ 1 32- 0/ 0 "$0
1; & & ! $ & 0x00, > & Ox03.
7.3.2 / ).20 " $ -1 /" 1
$ $.2C0 & .
/ ).20
+
0
1
2
3 Bar
4 PSI
5 "0/ “°
6 .o
7* % 1
* "1
71.33# $ 1 1 0 &4 / $
0-/4 $0 5 0 s 1
734 " 2 /37" 2 0 4 o $11 6 / ).21
s - a4
/ )21
+
0 4 $=" 2
1 4 5 /
2 4 60 /
7.35 0 1 $ / ! 1
' & .11 "&$ : " " $ . .o, A
.28 & $ . tiiet t§
$1 $ RS $ . &».
7.3.6 $ $71 $$ - "$ 0 , 11" &
.C 3 " RxD & $1(« 2») "2
1. $ 1 $
737 N S S
7.3.8 $" 2 " 1 1 .C 3 $ " 0
13 $"11 0 /7 1 . $"; $ 1 &0 /"
1 5 1 $" $ $71 "1
+INF. $"11 0 1% 5% 1 220 /.
1 $ " $ $71 "1
INF. " 2 1 .C 3 2 1, $"" 2
2 0.
739 #:1 /4 % 0 0 "$ $ BCD-4
$ 4 . 5 $ " "$ $ 0 0
1 $ 9 / ).22.
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/ ).22
$ $
0 0 4 & 0 0
/4 1 | /4 2 |/4 3//4 4|/4 5 /4 6//4 7| /74 8
8 12 12
; & 1; &
7310 1 4"/ - 0 $
: $ & 0 "1 0 - 0 . CRC32.
218 $ 0 0 1 4"/ 0 $
7.4 < / "1 1 "11 $1 % / ).23.
/ ).23
0 - 0 /1
1 1 0 /1
5 $2C& &$ 4 BCD (- "$ "& 1% -1 "&
4 ), 1 0, 4 $ $0 1 3
$ $ 1% & %1 2 $1Co,"" $
$ 2 - $ 0 11 , 015 .1 $ %
0.14999. : $ BCD 4 $7% $ $
1 3 - $ " 4 4 & ,3 & 1
$ . $ $; & 1 "& 1" C 8
"& 1 " OxOF, ; 1 ;0 & "$ 01 1 :
/)24 1 ¢ - - $< 4
/ ).24
4 o)

EXP8 BCD2 BCD1 BCDO
1.462110° 0x08 0x01 Ox46 0x20
8.567810° 0x0D 0x08 0x56 0x78
3.9085M10™ 0x04 0x03 0x90 0x85
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( )
O Modbus

1# Modbus

11 " Modbus 1 S, C &"

& $ , 1m2 = vt 1 1 T1( 0 $ ).

1.2 Modbus "3 . &$ 1 . "1.0 & $

$ ", 1" 1 ;" "/ > "
1.3 Modbus . $ $ & $ 2 1 "1 ! C
1 2 1 - 1& % ,$°1 2 1 = 4 / 2 &
oot & $ 4 2 % " .

1.4 Modbus 1 0 1 "% ( :%$2C ). & $ % (
Master), " : ;3 9 $ "1 1 ol & $
(1 & Save), « .o . $ 1.

15 " " 1Modbus $ 1 $ 247. & $, 1" 2 "

26 3 )3

2.1 1 1 "1 ! "& A" Té

22 " 1 $- 1 &12# 1,24# 1,48# 1,96# 1,
144# 1;192# 1;288# 1.

235 "t 1)4" $ (. 1 4.

24 " " $ . & $%1 & $ & 32

25 " 1 $ & 1200 .

3# ( Master Slave)

31Modbus 1 . $ $ "1 0 %$1.C0 . & $ (Master)
10 o] "1 $1 1. & $(Save)

# 1 -4 / & C $ $ : 1.
$1.C&$1 "& (Master Slave) $ : / .« - % »

Master : ($-1 ). 1 . & $ (Slave) ;
$1.C0 2 1 -, 12 ¢ "1 - $- 2 . -
$1.C 1& $ .

3.2Master = C wmnmwoom 1 . - . & $., " "9 ;
(- "$C "& ). / % $1 $ 01 11 $1.C0
. & $. 1 " . &$s$01 .;2 2 $ . Mater 1 ( =

1$ &)s 2 11 $ 3 $ $ .1
. & $ % : ;1; &8 0 1 . . : "$(C 0
$1 & $ $° . 2" 1. 4 $ $ 0 C

3.3Master  : 1% 1.2( C a.0 .. . . 2)

2 % 1"1.(C , 2 2% -1

3.4 $ $- 1 " 1& $ Saved . C
;o - 0 $ '

46

41# 1 *° $ " . Modbus 2 4" $ &4 1

1.2(C , $1 "3 /1 1 21 : RTU ASCII $ $
/ 1
1
! 0 4#"} ) ¥ (CRC)
. & 3 )
2 &
1 & 1 & 01 252 & 1 &‘ )
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/ 2
, o #2 - | : 4/
& & 4. "/ (LRC)
01
LS 12 s 208 | 210m 2 3 2 3§
Ox3A $ 1; &| ; & | OxOD | Ox0A
- 1 $1 0 (Save & $,"" 1 3
.1 " &$ & 2 " $; $ 1 1
$ 'z 1 $ 2(0 & %, "& 1
1 247. 1 O $ $ 1 "% C "1 $;
 §$1 .. & . 10" $"
"0 1& $ . 0$1.C . & $ (Master);
D) &, 1 - (C&1 " ri - 1 .. & $.1
$" 1 & 4. "/ @ $ ) 4 / 2
$" "11& $ & 4 $ 4. "/ ;
. " . CRC (Cyclical Redundancy Check) LCR
(Longitudinal Redundancy Check) 1 : RTU ASCII $ 3 $ ! 1"1.C !
& "1 . # . . 2C & &1 "
& 4 / 1 : ; " 1 .
411 RTU C $ 5 7 $ 0% 1
35 $ % 1 & " $ . <0 1. « (. . 2.
1 $ $ . 1 : 2 35 $ $ §
C < 0 $
5 & C 1 "5 . $ . 1 : 215
$ $ "5 S 1 4 & 2C . & $ " $
«C 1.2C & & .1 $ o 1.2 0 «C .
412 u ASCI|I C $ " 1 Ox3A (colon). + 1.
«C . 1 $ 1% 2 $ $ "1 O0xOD OxO0A
(carriage return line feed).
5 & C 1 "5 . $ ;" 1 : 1
$ "% % 1 4 & 2C . & $ " $ C
1.2C & & .1 $ o 1.2 0 « .
425 10 & .M $ / 3
/ 3
. . +
3 : RTU - ASCII
"1 3 8- $ 1% ASCII $ "09A-F
1 1
, 1 "1 8 7
# 1, $ ( . 1 711
1 $" 2 "
2 $=" 2
5 ), )
51 $ 1 - 0. $ " ; 1$.1 $
" / S " 1 ( $
1 "1
: 4. "/ $
52# / " ; $2 C
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< . Master, % . $ $ $ C 1 -
: 0 $ $ 2 1 . 1 1.0 1& $
5.3# ; "$ 1 " 1 Modbus :
$" 1 $ 23 10 & (. . 1 2.
531 0 CRC-16$" 2 1.2C & 1"1& $ &
)+0. $16 "& 0 (1 CRC 0 ) OXFFFF. < 0
d 01 . $- " & . ",
2) -~ /2« "2 2C D » 1. $° & C
1; & CRC- 0 : ; $CRC- 0
3 - 1$ 0 CRC- 0 $ $ 1 : - < 2
0.
4 3 1 0 CRC- 0 . 1; & $ 0
$ ; 03 1; & $ 1 %" /2« "2 2(C
) » :1.CRC- 0 OXA001.
5 $ - 03 4% .
6) $ -0 2 51 1.2C0 & « .
7N+$ ; $- B B C L. $"
" & . " .1 11 $CRC- 0 .
5325 0 0 ", . &1 CRC-16 1 3 .
1 1 40 $ 0 " 1.2 :
USHOR / / 16- ;
UCHAR / / 8- ;
pucFrame 4 & ( ¢ )1 -~ 0 "$ " ;

usLen 1 4 & ( C )

USHORT usMBCRC16 (UCHAR * pucFrame, USHORT usLen)

{
USHORT CRC = OxFFFF;

for (USHORT i =0; i <usLen; i++)
{
CRC = CRC " pucFramg]i];
for (USHORT j = 0; j < 8; j++)
if (CRC & 0x01)
CRC = (CRC >> 1) " 0xA001,
else
CRC = (CRC >>1);
}
return CRC;

}
5335 0 0 ", . &1 CRC-16 ( & ):

USHORT usMBCRC16 (UCHAR * pucFrame, USHORT usLen)

{
UCHAR ucCRCHi = OxFF;

UCHAR ucCRCLo = OxFF;

while( usLen--)
{

intilndex =ucCRCLo " *( pucFrame++);

ucCRCLo = (UCHAR)( ucCRCHi ™ aucCRCHi[ilndex] );
UcCRCHi = aucCRCLO[ilndex];

}
return (USHORT)( ucCRCHi << 8 |ucCRCLO);
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}

static const UCHAR aucCRCHI[] ={

0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x01, 0xCO0, 0x80, 0x41, 0x00, OxC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, 0xC1, 0x81, 0x40

};

static const UCHAR aucCRCLO[] ={
0x00, 0xCO0, 0xC1, 0x01, 0xC3, 0x03, 0x02, 0xC2, 0xC6, 0x06, 0x07, OxC7,
0x05, 0xC5, 0xC4, 0x04, 0xCC, 0x0C, 0x0D, 0xCD, 0xOF, OxCF, OxCE, OxOE,
Ox0A, OxCA, 0xCB, 0x0B, 0xC9, 0x09, 0x08, 0xC8, 0xD8, 0x18, 0x19, 0xD9,
0x1B, OxDB, OxDA, 0x1A, Ox1E, OxDE, OxDF, O0x1F, 0xDD, 0x1D, 0x1C, 0xDC,
0x14, 0xD4, 0xD5, 0x15, 0xD7, 0x17, 0x16, OxD6, 0xD2, 0x12, 0x13, OxD3,
0x11, 0xD1, 0xDO, 0x10, 0xFO, 0x30, 0x31, 0xF1, 0x33, 0xF3, OxF2, 0x32,
0x36, OXF6, OxF7, 0x37, OxF5, 0x35, 0x34, 0xF4, 0x3C, OxFC, OxFD, 0x3D,
OxFF, Ox3F, Ox3E, OXFE, OxFA, 0x3A, 0x3B, OxFB, 0x39, 0xF9, 0xF8, 0x38,
0x28, OXE8, OXE9, 0x29, OXEB, 0x2B, 0x2A, OXEA, OXEE, Ox2E, Ox2F, OXEF,
0x2D, OXED, OXEC, 0x2C, OxE4, 0x24, 0x25, OXES5, 0x27, OXE7, OXEB, 0x26,
0x22, OXE2, OXE3, 0x23, OXE1, 0x21, 0x20, OXEO, OXAO0, 0x60, 0x61, OXA1,
0x63, OXA3, OxA2, 0x62, 0x66, OXA6, OXA7, Ox67, OXA5, 0x65, 0x64, OxA4,
0x6C, OXAC, OxAD, 0x6D, OxAF, Ox6F, Ox6E, OXAE, OXAA, OX6A, 0x6B, OXAB,
0x69, 0xA9, OxA8, 0x68, 0x78, 0xB8, 0xB9, 0x79, 0xBB, 0x7B, Ox7A, OXBA,
OxBE, Ox7E, Ox7F, OxBF, 0x7D, OxBD, OXxBC, 0x7C, 0xB4, 0x74, 0x75, 0xB5,
Ox77, 0xB7, 0xB6, 0x76, 0x72, 0xB2, 0xB3, 0x73, 0xB1, 0x71, 0x70, OxBO,
0x50, 0x90, 0x91, 0x51, 0x93, 0x53, 0x52, 0x92, 0x96, 0x56, 0x57, 0x97,
0x55, 0x95, 0x94, 0x54, 0x9C, 0x5C, 0x5D, 0x9D, 0x5F, Ox9F, OX9E, Ox5E,
Ox5A, Ox9A, 0x9B, 0x5B, 0x99, 0x59, 0x58, 0x98, 0x88, 0x48, 0x49, 0x89,
0x4B, 0x8B, 0x8A, 0x4A, Ox4E, 0x8E, Ox8F, Ox4F, 0x8D, 0x4D, 0x4C, 0x8C,
0x44, 0x84, 0x85, 0x45, 0x87, 0x47, 0x46, 0x86, 0x82, 0x42, 0x43, 0x83,
0x41, 0x81, 0x80, 0x40

};

534 0 LRC$" 2 1.2(& 1"18& $&
1 - $ & « ., "2 $ 2( (Ox3A)
"/ (  (0xOD OxOA).
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2 . 0 $- OxFF 1 0 "1.
3 # . . 21 $ 11 ; 1 0" 1.
5355 0 0 ", &1 LRC
UCHAR ucMBLRC (UCHAR * pucFrame, USHORT usLen)
{
UCHAR ucLRC = 0;
while (usLen--)
UcLRC += *pucFramet+;
return (UCHAR) (-((CHAR ) ucLRC) );
}

5.4 C ; "1 2 1.2C & 4 : $1 & $ /
" 0, $ 1 = C > ", 8 $ "&$1
"1 4. (" 1). / 5 "3 e

/ 4
1
1 0| #14."/ #1 ; " #
& $
2 &
1 & 1 & OROx80 1 & 1; & _—)
/ 5
#1 ; " $
0x00 >
0x01 " " (1 ) 0
0x02 " "o 0. 4. "/
6 ) Modbus
6.1 0 1 1% 11 - $ " 1-
o 1 =:- s 1 " Modbus.
6.1.1, 0 $1 (Read Holding Registers) 4. "/ 0x03. 5
$1 % / 6.5 $ $ /T
/ 6
1
0 # 1 $0 # $ #
& S 4. "/ 0 0 $(N)
2 & 2 & 2 &
1é Ox03 & 1 & & 1 & 1; &| ; &
/ 7
1
0,7 " (Nx2 &) #
& $ ]
+ 1-0 + N-0
0 0 2 &
1 & 0x03 > & > &
; & 15 & s & 15 & 13 & ; &
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6.1.2 + 0 ! (Write Single Registers) 4. "/ 0x06. 5
$1 $ / B85 $ $ / 9
/ 8
1
1 4#..} 0 + #
& $ )
2 & 2 & 2 &
1 0x06 -] 1: e S8 1: & 1 &
/ 9
1
1 4#..} 0 + H
& $ )
2 & 2 & 2 &
1 & 0x06 S8 1: & S & 1:; & 1: &
6.1.3, $11 0 0 (Read Input Registers) 4. "/ 0x04. 5
$1 $ / .10.5 $ $ / 1l
/ 10
. 1 #1 $ 0 # $ "
& s 4. "/ 0 0 $(N)
2 & 2 & 2 &
1 0x04 -] 1: e s8] 1: & 1 &
/ 11
1 # 1
1 ey " (Nx2 &) #
& $ )
+ 1-0 + N-0
0 0 2 &
1 & 0x04 > % > %
; & 15 & s & 15 & 1; &| :
6.14 , .. & $ (Read Exception Status) 4. "/ 0x07. 5
$1 $ / 12.5 $ $ / 13
/ 12
1
1 4#..} #
& $ )
2 &
1 0x07 1= g g
/ 13
1
1 4#.,} #
& $ )
2 &
1 0x07 1 & I: g %
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7# -
7.1 0 $ ! (Holding Registers), 1 . =11
"1$< 0 $ & ., %1 3 / 14 &
/! = 1.2(C :
- INTO8U / 8- $1 01 255
- INT16U / 16- $1 01 65535.
- INT32U / 32- $1 01 2%
(4 294 967 296).
- FP32 32- $C $ $2C & &$1
1 +3410%. 5 1 $ 2 $ $.
-1. 1 1 . I|EEE754.
-+1 1 1 $ "$1 &
0 - " "1 $71 - o1 - "
$ 1371 : : 0x01 ( /. 5
/ 14
1
0 3
1 . 32
. SeriaNum | INT32U 0-2 & "& 1 "
3 Interface | INT16U 1 711 - 4 & 1
4 o
c LLimit BCD 0 / 1
. 1 712
. HLimit BCD 1 0 /1
8 MUnit | INT16U 1 713| 1 /-
9 PChSetup | INT16U " 6 218
1 714 - 6 "
10 TChSetup | INT16U .
11 DFOrder | INTO8U 0 16 1"/ 4 $0 4
12 RngCheck | INTO8U 1 715 |# 1
13 + $
14
dP 1 716 C
15
16
17 a0
18
19 o1
FP32
20 (-34410%) 1 |# $ " "<44/ "
a2 3 .
21 +3,4':|.03 1
22
23 %o
24
a
25 01
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14
1
0 $
26
&
27 12
28
oo
29 FP2 -3,4010% 1 # $ " "4/ -
30 +3,4¢10® 1 "
31 a1
32
2
33 ?
249 ZCnt | INTO8U 1 716 Y
250 WMode | INT16U 1 717| = "1
251 Start INT16U 1 718+ . " $" &
1 $
252 | Password | INT16U 1 " (s / $"1 -
"% )
253 . 0 0
FirmVer | INT32U "
254 1
p== 1 719
FirmiD INT32U 1 4"/ & "
256 0 0 1
$, 2C ! 10 0 1 ! $ 0
( : "1 2 & 0 1 "), 4 little-endian,
" $ $.2¢! 1
- "% / 14 1 - $ 2,1 $
< $ & 1" ( - ). 1 " 1
$ , $ " & 1 : $1"1
u " $ 1 % " ( : )
7.1.1 Interface ; 1 &" 4 & 1 .1
16- 0 $1 / 15+ , $ - 2,%"1
15
# 1 - $&1 4"
PARL | PARO |BR3|BR2[BR1[BRO|M1| MO |17 ]16][I5]14]13][12]11]I0
0000 1200
0001 2400
00 0010 4800
01 0011 9600 oA 11 2°
10 0100 14400
0101 19200
0110 28800
; 1; &




75 .406233.090
7.12 /71 12 s$(C $ - $ 4 BCD.
, 4 & :3 & $ 1 & 1 "8 1"
C g8 " "& 1 " OxOF, : 0 & "$ 01
1 : : 1 $ - - $< 4 :
/ .16
1 n
’ EXP8 BCD2 BCD1 BCDO
1,462¢10F 0x08 0x01 Ox46 0x20
8,567810° 0x0D 0x08 0x56 Ox78
3,9085¢10" 0x04 0x03 0x90 0x85
/ a7 " 0 $, R N 0 /1
0 LLimit, 1 : (0 1,462+10.
/ 17
1 0 4 5
2= 0 BCDO EXP8 BCD2 BCD1
0x20 0x08 0x01 0x46
7.13 1 1 7/ 1 . 16- &
o, " " o $ / AT i 21 /- 1
1 $ 12 .+ $=1 & $ RNG3 RNGO $ : "
$$ 1 ( . . 14
/ .18
+ $ % ]
| | | | | | [RNG3|RNG2|[RNG1|RNGO| RES3 | RES2 | RES1 | RESO
0000
0000 0001
ooo1 " 0010
0010 0011 bar
0011 bar 0100 ps
0100 psi 0101 "0 / 2
0101 "0 / 2 0110 oo
0110 0111 % 1
; & 1; &
714 0 " PChSetup TChSetup 16- o -, $2( &".
$ 6 1 " " 0 $ $1 ¢ / .19
/ 19
N s s . &| # <44 / ]
| T ] F1 | FO | G2 | G1 | GO B/U
000 1
001 2
010 4
00 .
oL 50 ;s |01 8 0 &
10 60 s | 100 16 1 &
101 32
110 64
111 128
;& 1; &
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+ $"1 &$ 2 " "2 &F1 FO $

$$ 1 ( 14). $1 $ 1 "$ 6 $ $
0 4 50 /.

715 $" 2 " 1 1 .C 3 $ " 0
1$ $"11 0 /1 . $°; $ 1 &0 /"
1 5% 1 $" $ . $°1 "1
+INF( . 1 72). $71 1 01$ 5% 1 - 22
0o /.1 $" 8 $"1 " 1-INF( 1 7.2).

"2 " 1 .C 3 2% 0 RngCheck 0
0. """ 2 2% 0 RngCheck 0.
7.16 dP ( $4 FP32) 1 $ (¢ 1 ( .
1 7.21). "& 1 . " " . " & . $"
dP $ 0 "1 .C 3 03 1 1"
1 - %" $ 0 14, $ 0 15. (. 1
> "$ daP .1 ; , 1 &; & 1 "o
$ , - $ . .3 & "/ C
1 " 0 ZCnt .1 .$ 1 /.
7.1.7 1 " 1. 1$ " & ( 1
2) -0 < 0 . "
11 $< : $ O WMode 1 " 0x0000) 1
"$ -C $ 1% : 1% : -
$ 2 3 $ $.2C0 0 ( 1 7.2). : : 0
< 0 ( 1'1$< : .C 3 2% 0 WMode
0x0001) 2 * C $ 2 " S $ (
1 7.1.8). < " 1$ - :
&. -, 1 . 13 & "
C$ 1 "% 8 s$2C!' o0 I ( 1 72 0. - o

718 0 Start . 1 S $ : : 0
< 0 N & .C ¢ 2% 0 Start OxFFQO.

$' 0x0000. )2 " 1 .0 $ 2 1 . " o
1 4 $ (¢ : "1 0
Stat $ .1 "

M1 tgtra 0 , .C $ 2
&$ $ 1 -1 $( 1 0 DFOrder), !
- & $ $ $.2C 0 " ( 1 72 11 $
0 < 0 : $ & 0 Stat $
719 0 " FrmVer FrmiD 1 1 4"/ " " 0 0
1 " 0 0 1 "ol $ 0 FirmVer,
1 . "1 : - 1 "1$< 0 $°1 C
;0" ;" Oox01( /. 5.#:1 /4 $ 0 0
"$ $BCD-4 $ 4 " 0 FirmVer 1 $ $
/ .20.
/ .20
$ $
0 0 44 0 0
/4 1 | /4 2 |/4 3//4 4|74 5 /4 6|//74 7|74 8
8 12 12
> & 1; &
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0 FrmD 1 : 1 4 "/ & 0 0 , &
$ " & . &, & $ & 0 "1 0 -
0 . CRC32. "14&$ 0 0 0 FirmiD
$ " "
7.2 $r1 71 0 $ (Input Registers), ! "1 $ $ & :
$1 $ / 21,
/ 21
1 $
0
1 ADCPress| INT16U 0 65535 #1 6 " .19
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